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QUESTION 1

In Report Studio, which variable requires the author to create values? 

A. Style 

B. String 

C. Boolean 

D. Language 

Correct Answer: B 

 

QUESTION 2

In Report Studio, an author merges Query1 and Query2 into one result set (Query3) using a Union set operator. Query1
contains two data items: Order method and Revenue. Query2 also contains two data items: Product line and Quantty
sold. The author wants to display the data from Query3 in a list report. How can the author ensure that all the order
method results appear together and all product line results appear together in the list report? 

A. The author must add a sort key data item directly to Query3. 

B. The author must sort the Order method data item in Query1 and the Product line data item in Query2. 

C. The author must sort the data item in the Query3 that retrieves both Order method and Product line data. 

D. The author must add a sort key data item to Query1 and to Query2, and then add this sort key data item to Query3. 

Correct Answer: D 

 

QUESTION 3

In a Report Studio report, to add white space around text within a block, which of the following propertes must be set to
the block? 

A. Positoning 

B. Size and Overfow 

C. Padding 

D. Margin 

Correct Answer: C 

 

QUESTION 4

In the image below, 
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the last column calculates the percentage that each Product type contributed to the overall revenue. What is the
calculaton in the last column? 

A. percentage ([Revenue]) 

B. percentage ([Revenue] for Product type) 

C. percentage ([Product type] for [Revenue]) 

D. percentage ([Product type]) 

Correct Answer: A 

 

QUESTION 5

In Report Studio, which chart lets the report author plot a third measure? 

A. Area 

B. Bubble 

C. Scater 

D. Progressive Column 

Correct Answer: B 
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